


Review
This is the first course in finance. The emphasis is on the close link between finance and other areas of social and economic activities. We try to demonstrate that a good understanding of financial problems can only be achieved with a good understanding of general environment. At the same time, working on financial problems shall clarify understanding in many problems in life. 
In financial analysis, two problems become very prominent. One is the level of initial cost or initial asset. The other is the level of uncertainty. We will use the following example to illustrate them. 
Suppose a project will be jointed undertaken by two firms. The earning of the project will be equally shared by two firms. The cost of first firm will be 10000, 2500, 2500, 2500, 2500 in year 0, 1, 2 3, 4 and the cost of the second firm will be 4450 from year 0 to 4. If the discount rate is 15% per year, what is the cost in present value for each firm? If however, each firm can withdraw from their commitment to the project anytime, which firm is more likely to pay extra cost to finish the project? In raising children, mothers pay much higher initial cost than fathers. If the family contract is enforced over a long term, fathers can be required to contribute more over the years. However, if marriage contract can be terminated any time, who will be more likely to pay extra cost? Will the lack of enforcement of long term contract increase or decrease the number of projects? 
The course emphasizes the understanding of real problems. This will be reflected in final exam. Hope the course is enjoyable for you. Hope you gain self-confidence by working through many challenging problems. 
The following are some of the exercises that may be more relevant to your final exam. But the relevance is more in spirit than in letter. 
Homework of Chapter 7

Two firms are in the same industry. We assume they are identical in production and their only difference is in their financial structure. The first firm is financed 50% by equity and 50% by debt. The second firm is 95% by equity and 5% by debt. The cost of equity of the first firm is, calculated from CAPM, 16% and the cost of debt of the first firm is, inferred from debt price, 6%. The cost of equity of the second firm is 14% and the cost of debt is 4%. The cost of equity and debt are lower for the second firm because it is less leveraged and hence less risky. What are WACC of the two firms? Intuitively, which firm will be more risky and hence the cost of capital will be higher? What conclusion we can get? 

Homework of Chapter 8
1. A project with 100 million dollar initial investment, it has 60% chance of earning 100 million dollar profit and 40% of losing 1 billion dollar in one year. If undertaken by a company with 1 million initial capital with a bank loan of 100 million, what is the expected profit of the project? (Ignore interest payment for simplicity.) If it is undertaken by a company with 10 billion capitalization, what is the expected profit of the project? Discuss how company size may affect expected profit of projects. Is it easy for a company with one million dollar capitalization to borrow100 million dollar for a project? If the company issues 100 million stock, what is the expected profit of the project? What are the rates of return to equity owners in three cases? (The first is the equity owners of 1 million dollar capital. The second is the equity owners of 10 billion dollar capital. The third is the equity owners of 101 million capital after stock offering.) 
2. A utility firm under regulated environment makes about 12% on its investment. Since there is little competition is a regulated environment, the rate of return is very stable, fluctuating  between 10% and 14%. To enhance the rate of return on equity, company owners decided to finance half of the capital with debt at 6%. What is the average rate of return on equity of this utility company? What is the lowest possible rate of return on equity and highest possible rate of return on equity? Why do you think utility firms under regulated environment and other firms with stable income prefer to have high debt ratio? A high tech firm makes about 12% on its investment. Since the high tech industry is very unpredictable, the rate of return is highly volatile. Its rate of return fluctuates between 2% and 22%. Is it wise to finance half of the capital with debt? If the utility firm borrows at 6%, can the high tech firm borrow at 6% as well to finance half of the capital? Why? If the high tech firm can borrow at 8% to finance half its capital, what is the lowest possible rate of return on equity and highest possible rate of return on equity? What happens when firm’s cash flow is lower than the debt obligation? Why do you think high tech firms and other firms with volatile income prefer to have low debt ratio? 
Homework of Chapter 12. 
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